BbIHOC paguaTopa ﬁ% ﬁ%

YAMAHA Grizzlx % 5%
Material: steel M6 = 9.8 Nm || M8 = 24 Nm

OcHoBHble KOMNNeKTylowmne nsgenus
Ne 40.MP 0242V MP 0242V

Ne | |Kon-so| HaumeHoBaHue |B|/|p, |N9| Kon-so| HawmmeHoBaHue |Bup

1 4 Kprok 14 16 laitka M6 2]

2 2 dnaved 15 10 Faiika M8 )
3 1 dnaHey 16 24 LLlait6a 4 ©

4 2 KpoHLuTenH 17 32 LWai6a 6
5 1 Kpbiluka 18 18 IWaii6a 8
6 12 Bont M6x16 @ 19 4 LWawnba 8I @
7 4 Bont M6x30 2 20 6 Waiiba 8
8 12 BuHT M8X20 «

9 2 BUHT M8x25 BN

10 1 Yronok m

1 1 Cetka

12 1 KpoHwwTenH

13 2 KpoHLuTenH

T Oor

www.stormprotect.ru

T Oor

www.stormprotect.ru




=
©
i)
L
o
) E
K
ﬁm




	Страница 1
	Страница 2

